

$F_c = F_1 + F_{pn} \rightarrow \sigma = F/A \rightarrow d = \sqrt[4]{\frac{4 \cdot A}{\pi \cdot \sigma} \sqrt{\frac{4 \cdot A}{\pi \cdot \sigma}}} //$ $\varepsilon = \sigma/E$ $\Delta l = l_0 \cdot \alpha \cdot \Delta T, A = F/\tau_{\text{top}}, d_1 = m_2 \cdot z_1 \rightarrow a_1 = d_1 + d_2/2$	$F_c = F_1 + F_{pn} \rightarrow \sigma = F/A \rightarrow d = \sqrt[4]{\frac{4 \cdot A}{\pi \cdot \sigma} \sqrt{\frac{4 \cdot A}{\pi \cdot \sigma}}} //$ $\varepsilon = \sigma/E$ $\Delta l = l_0 \cdot \alpha \cdot \Delta T, A = F/\tau_{\text{top}}, d_1 = m_2 \cdot z_1 \rightarrow a_1 = d_1 + d_2/2$	$F_c = F_1 + F_{pn} \rightarrow \sigma = F/A \rightarrow d = \sqrt[4]{\frac{4 \cdot A}{\pi \cdot \sigma} \sqrt{\frac{4 \cdot A}{\pi \cdot \sigma}}} //$ $\varepsilon = \sigma/E$ $\Delta l = l_0 \cdot \alpha \cdot \Delta T, A = F/\tau_{\text{top}}, d_1 = m_2 \cdot z_1 \rightarrow a_1 = d_1 + d_2/2$
---	---	---